= 1)—X CCL-IC

AVENTICS™  AVENTICS CCL-IC ¥1) — X &% A
1) A (1ISO 21287 y
( ) EMERSON.



AVENTICS CCL-IC U —X %3 )4 (ISO 2
21287) 2024-01-18

> 1)—X CCL-IC

AVENTICS CCL-IC ') —X(1S0 21287) ¥ D H WAV NI RTO )=V BHREH T, WEWT 7V T—2 3 THEAT
EEXT, BOABRKRKAEBBRICTILIZ VA, ATVLAAF—I)L, NSF-H1 HBREEOHBICKY, UV HE
ERBIURBIROBLVEHCRETTY,

« OAVRURTOU—BEE -
- 16mmA'S 100mm ETOEARNVERES
N=92 9 204 XTHATHE T
- BERRILENEREORENES t
« ATL—=N—EBBH (NSF-H1) &, REA 459
BTEARBENRTVET u
- REAOIVYNNAOHENBREF TV T A
- BMORYMHERELBELT, BHITH
MEEI-N—HILBYFAFIV LT~ o=

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO
21287)

3
2024-01-18

1ISO 21287, /1) — X CCL-IC

ISO 21287

ANV R—EBANO—I VA —
¥REE
ERNITOERICES
=V BEEEHE

pag ]

NTZY MIZEERKNY
MG

a2 U

Mt U

SUUINEME, BE BIiAK

[revy

EAN  ARO—% K-k ATL—/IY ERARY  ERRY  IFUFLES
> o [mm] HABBE N HBE
[mm] IN] IN]
16 5 M5 HMEEE | YRV M4 | BEETEHR 12 115 R480668926
HEERN Z5L—/N
>
16 10 M5 MRS | YUXY N M4 | BEIER 12 115 R480668927
HEERAN 2oL~/
>
16 15 M5 BUEE | YIXRYBN M4 | BETXEH 12 115 R480668928
HEERR Z5L—I%
>
16 20 M5 BEEE | YITXRYN M4 | BETXR 12 115 R480668929
HEERR Z5L—I%
>
16 25 M5 MR | YJXRY N M4 | BETHER 12 115 R480668930
HEERAN 25 L=\
>
20 5 M5 HUEE | YRV M6 | BETXEH 13 185 R480668931
HEERAN Z5L—I%
>
20 10 M5 HEEE | YIXRYN M6 | BEIXHA 13 185 R480668932
HEERN Z5L—I%
>
20 15 M5 BURE | YIXRYKN M6 | BEIXA 13 185 R480668933
HEERAN Z5L—IN
>
20 20 M5 HMEE | YUXY N M6 | ZBEIXR 13 185 R480668934
HEERAN Z5L—IN
>
20 25 M5 HEEE | YIXRYKN M6 | BEIXHA 13 185 R480668935
HEEAN Z5L—I%
>
25 5 M5 BMEEE | YRV M6 | EETHEH 25 284 R480668936
HEERN Z5L—IN
>
25 10 M5 MRS | YUXY N M6 | ZBEIXER 25 284 R480668937
HEERAN 2oL~/
>
25 15 M5 BUEE | YIXRYBN M6 | BEIXH 25 284 R480668938
HEERR Z5L—I%
>

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 4
21287) 2024-01-18
EX b AhO—=72 R—h AOL—=IN EARRY EAKY XTUT7ILES
> o A AFE O HEE
Ll [N] (N]
25 20 M5 BUEE YIxYA M6 | BETXR 25 284 R480668939
HEERN ATL—N
>
25 25 M5 BMEE | YIXRYA M6 | BETXA 25 284 R480668940
HEEAL AIL—=/\
>
32 5 G 1/8 HMEE | YUJXY N M8| BEIXAH 35 472 R480668941
REEAN AOL—=N
>
32 10 G 1/8 HMEE | YIRYN M8 | HRETXA 35 472 R480668942
FEEAR A7L—=N
>
32 15 G1/8 BMEE | YIRY A M8 | BETIXA 35 472 R480668943
HEEARL AIL—=/N\
>
32 20 G1/8 BMEE | YIXRY N M8 | EETXH 35 472 R480668944
REEAN AOL—=N
>
32 25 G1/8 HMEE | YJXY N M8| BRETIXA 35 472 R480668945
FEEAR A7L—=N
>
40 5 G1/8 BUEE YIxYH M8 | BEIXA 43 749 R480668946
HEERR 24 L—/
>
40 10 G1/8 BMEE | YIRYbN M8 | BETXA 43 749 R480668947
REEAN AOL—N
>
40 15 G1/8 HMEE | YJXY N M8| BREIXA 43 749 R480668948
FEEAR A7L—=N
>
40 20 G1/8 BUEE YIxYA M8 | BETXRH 43 749 R480668949
HEERN AL—N
>
40 25 G1/8 BMEE | YIRYbA M8 | BETXA 43 749 R480668950
HEEAL AIL—=/\
>
50 5 G1/8 HMEE | YJXY N M10| BREIXA 82 1155 R480668951
REEAN AOL—=N
>
50 10 G1/8 HMEE | YIRYN M10| BRETIXA 82 1155 R480668952
FEEAR A7L—=N
>
50 15 G1/8 BUEE VIRV A M10| BETHER 82 1155 R480668953
HEEARN AIL—=/NN
>
50 20 G1/8 BMEE | YIXRY A M10 | BETXH 82 1155 R480668954
REEAN AOL—=N
>
50 25 G1/8 HMEE | YUY N M10| BREIXA 82 1155 R480668955
FEEAR A7L—=N
>
63 5 G1/8 BUEE YIxYA M10| BETHXA 82 1882 R480668956
HEERR 25 L—/
>

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO 5

21287) 2024-01-18
EAbB AkO—2 R—k EANS EANY
D', [mm] B AKE HHEE
[mm] [N] [N]
63 10 G 1/8 MR | YUXY N M10| ZBEIER 82 1882 R480668957
FEEAK ATL—=N
>
63 15 G 1/8 BUEE | YRV M10| HRETXEH 82 1882 R480668958
FEER S ATL—=NI
>
63 20 G 1/8 HEEE | YRV M10| ZEETEH 82 1882 R480668959
FEEAL AoL—N
>
63 25 G1/8 BMEE | YJxY N M10| BETXRA 82 1882 R480668960
FEEA N AoL—N
>

EMERSON.




AVENTICS CCL-IC U —X &% 1) > 4 (1ISO 6

21287) 2024-01-18
ik
216 - 63 ZA+S
BG BG| EE
LA1 LA B1 PL PL

KF,
PN

' =
WH TG x
AF BG E
ZB+S
_______ | B C) s
— i EE

@80 -100 e

e

E)
|
i
O]
mj

LW_|
E
s=AkO-Y

EANY @ AF B1 BG &/ E EE H KF LA LA1 LW
16 10 3.8 15 29 M5 3.4 M4 35 35 3.2
20 10 3.8 15 36.5 M5 3.1 M6 4.8 4.6 3.7
25 10 3.8 15 40.5 M5 3.1 M6 4.8 4.6 3.7
32 12 3.8 16 49.5 G1/8 3.1 M8 4.8 4.8 5
40 12 3.8 16 57.5 G118 3.4 M8 48 48 5
50 16 3.8 16 69.5 G118 3.1 M10 48 48 5.7
63 16 3.8 16 79.5 G1/8 3.1 M10 4.8 4.8 5.7

4

od

EMERSON.




AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 7
21287) 2024-01-18
EALY @ PL RR &/ RT Sw TG WH ZA+S ZB+S
16 5 32 M4 7 18 £0,5 4814 36 408
20 5 4.1 M5 8 22104 61,4 37 43
25 5 4.1 M5 8 26 10,4 61,4 39 45
32 75 5.1 M6 10 32.5+0,5 7£16 44 51
40 7.5 5.1 M6 10 38 0,5 71,6 45 52
50 7.5 6.4 M8 13 46.5 10,5 81,6 455 53.5
63 7.5 6.4 M8 13 56.5 +0,5 81,6 49 57

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO
21287)

8
2024-01-18

1ISO 21287, /1) — X CCL-IC

ISO 21287

ANV R—EBANO—I VA —
¥REE
ERNITOERICES
=V BEEEHE

pag ]

NTZY MIZEERKNY
MG

il

Mt U

SUUINEME, BE BIiAK

[revy

EAN AkO—% R—K AIL—IY EARRY
O [mm] A ABEE
[mm] [N]
16 5 M5 EMEF | YIRYBN M6 | EEITXA 12 115 R480668891
fEER N AUL—N
>
16 10 M5 HMEEE | YRV Me| EBEIXR 12 115 R480668892
HFEERAN ATL—N
>
16 15 M5 HUEE | YRV N M6 | EETZEH 12 115 R480668893
FEEA N ATL—N
>
16 20 M5 EMEF | YIRYDB M6 | EEITXA 12 115 R480668894
fEERAN AOL—N
>
16 25 M5 HMEEE | YIXRY BN M6 | ZXEITXH 12 115 R480668895
FEERAN AIL—N
>
20 5 M5 HERE | YRV N M8 | EETHEH 13 185 R480668896
HFEEARAN ATL—=N
>
20 10 M5 BUEE | YUXRYBN M8| EEITXEA 12 185 R480668897
fZEERAN AIL—N
>
20 15 M5 HUEEE | YRV N M8| EETXHA 12 185 R480668898
fEERA N AIL—N
>
20 20 M5 HUEREE | YRV M8 | EETEH 12 185 R480668899
HFEERAN ATL—N
>
20 25 M5 BUEE | YRV BN M8 | EETZEH 12 185 R480668900
FEEA N ATL—N
>
25 5 M5 BMEF| YRV M8| EETIXA 25 284 R480668901
fEERA N AIL—N
>
25 10 M5 HMEEE | YRV M8| EBEIXR 25 284 R480668902
FEEARAN ATL—N
>
25 15 M5 WUEE | YRV N M8 | EETZEH 25 284 R480668903
FEEA N ATL—N
>

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 9
21287) 2024-01-18
EX b AhO—=72 R—h AOL—=IN EARRY EAKY XTUT7ILES
> o A AFE O HEE
Ll [N] (N]
25 20 M5 BUEE YIxYA M8 | BETXR 25 284 R480668904
HEERN ATL—N
>
25 25 M5 BMEE | YIXRYA M8 | BETXA 25 284 R480668905
HEEAL AIL—=/\
>
32 5 G 1/8 HMEE | YUJXY N M10x1,25 | BEIXEH 35 472 R480668906
REEAN AOL—=N
>
32 10 G 1/8 HMEE | YIRYN M10x1,25 | HETZA 35 472 R480668907
FEEAR A7L—=N
>
32 15 G1/8 BUEE | YIxYE M10x1,25 | RETHM 35 472 R480668908
HEEARL AIL—=/N\
>
32 20 G1/8 BMEE | YIXRY N M10x1,25 | HRETHMA 35 472 R480668909
REEAN AOL—=N
>
32 25 G1/8 HMEE | YJXY N M10x1,25 | HRETZA 35 472 R480668910
FEEAR A7L—=N
>
40 5 G1/8 BMEE | YIRYbN M10x1,25 | BEIXMA 43 749 R480668911
FEEAR A7L—N
>
40 10 G1/8 BMEE | YIRYbN M10x1,25 | HRETHMA 43 749 R480668912
REEZN 29 L—/%
>
40 15 G1/8 HMEE | YJXY N M10x1,25 | BREIHMA 43 749 R480668913
FEEAR A7L—=N
>
40 20 G1/8 BMEE | YTXRYbN M10x1,25 | BET XA 43 749 R480668914
HEERN AL—N
>
40 25 G1/8 BMEE | YIRYbA M10x1,25 | HRETHMA 43 749 R480668915
HEEAL AIL—=/\
>
50 5 G1/8 HMEE | YJXY N M12x1,25| BEIXEH 82 1155 R480668916
REEAN AOL—=N
>
50 10 G1/8 HMEE | YIRYN M12x1,5| BEIXA 82 1155 R480668917
HEERN 29 L—/
>
50 15 G1/8 BMEE | YIRYbA M12x1,5| BEITXH 82 1155 R480668918
HEEARN AIL—=/NN
>
50 20 G1/8 BMEE | YIXRY A M12x1,5| BETEH 82 1155 R480668919
REEAN AOL—=N
>
50 25 G1/8 HMEE | YUY N M12x1,5| BEIXA 82 1155 R480668920
HEEZN 25 L=/
>
63 5 G1/8 BMEE | YIRYbN M12x1,25 | BEIXA 82 1882 R480668921
FEEAR A7L—N
>

EMERSON.



AVENTICS CCL-IC &) —X @#2 1) > & (ISO 10
21287) 2024-01-18
EAN ANO—2 R—bK EARNY EANY
> @ [mm] H ABE J HEmE
[mm] [N] [N]
63 10 G1/8 HUEE | YRV N M12x1,25 | ZXTEH 82 1882 R480668922
fEEA N ATL—N
>
63 15 G1/8 WMEE | YRV BN M12x1,25 | ZEXTEH 82 1882 R480668923
FEEAN AOL—N
>
63 20 G1/8 BUEE | YRV N M12x1,25 | BETEHR 82 1882 R480668924
FEERA KN AUL—N
>
63 25 G1/8 HMEEE | VIRV M12x1,25 | ZET¥HR 82 1882 R480668925
FEEARA KN AIL—N
>

EMERSON.



AVENTICS CCL-IC 2 U—X Z%#> 1) & (ISO 1
21287) 2024-01-18
&
216 - 63
ZA+S
BG BG
LA1 LA EE
A 4 B1 PL PL
g IJ e —
sw*j b &
Y > s R ;
_—— — = NNy =
Al =
§E ...... - — wl O — —s 2 W v A RS L~ 1
) > SR
KV | e
KW TG x
LW* E
WH BG
ZB+S
—— |
S — .
EE
@280 - 100
e e
() < ()
—HE- L1 | 1OF T
- L1 H
E
S=2kO-—7
EANY @ A B1 BG &) E EE H KK KV KW LA
16 12 3.8 15 29 M5 3.1 M6 10 3.2 35
20 16 3.8 15 36.5 M5 3.1 M8 13 4 4.8
25 16 3.8 15 40.5 M5 3.1 M8 13 4 48
32 19 3.8 16 495 G1/8 3.1 M10x1.25 17 5 4.8
40 19 3.8 16 57.5 G1/8 3.1 M10x1.25 17 5 4.8
50 22 3.8 16 69.5 G1/8 3.1 M12x1.25 18 6 4.8

EMERSON.




AVENTICS CCL-IC U —X &% 1) > 4 (1ISO

21287)

12

2024-01-18

22

3.8

G1/8

3.1

M12x1.25

4.8

16 35 3.2 3.2 8 5 3.2 M4 7 7 18 0,4

20 4.6 3.7 3.7 10 5 4.1 M5 8 8 22 +0,4

25 4.6 3.7 3.7 10 5 4.1 M5 8 8 26 +0,4

32 4.8 5 5* 12 7.5 5.1 M6 10 10* 32,56 0,5

40 4.8 5 5* 12 75 5.1 M6 10 10* 38 £0,5

50 4.8 5.7 4,8* 16 7.5 6.4 M8 13 13* 46,5 +0,6

63 4.8 5.7 4,8* 16 7.5 6.4 M8 13 13* 56,5 +0,7
EANY @ WH ZA +8 ZB+S

16 4,814 36 40.8

20 614 37 43

25 6+14 39 45

32 71,6 44 51

40 716 45 52

50 81,6 45.5 53.5

63 81,6 49 57

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 13
21287) 2024-01-18
1ISO 21287, /1) —X CCL-IC
1ISO 21287
AVNI RV IE—EEANO—I2 YR —
EREE -
RRMITOERICES TN
ATEX TA7S 3> —
= LB ‘
A
RITZY RMFEERARNY
MR =
iifi4a U
ifi4a U
27\ EE
F7T a2 TRMmME
ATEXTH7> 3>
EAN AbkO—=2 R—h AOL—=IN EARY EANY XTUTILES
> o [mm] A ABE  hHEAE
[mm] [N] [N]
16 5 M5 BMEEE | YRV M4 | BETXR 95 127 R480668787
FEEAL AoL—N
>
16 10 M5 MR | YUXY N M4 | BETEH 95 127 R480668788
HEERR 25 L—/
>
16 15 M5 BUEE | YIXRYBN M4 | BETXEH 95 127 R480668789
FEEAN AO9L—N
>
16 20 M5 BEEE | YITXRYN M4 | EETEHR 95 127 R480668790
HECZN 2L—/
>
16 25 M5 BUEE | YIXRYKN M4 | BETXR 95 127 R480668791
fEEA N ATL—=N
>
16 30 M5 HMEE | YUXY N M4 | BETHER 95 127 R480668792
ffEEA N AIL—=N
>
16 40 M5 BUEE | YITXRYBN M4 | EETZEHR 95 127 R480668793
FEEAN AOL—N
>
16 50 M5 BURE | YIXRYKN M4 | BETXR 95 127 R480668794
FEEAN AoL—N
>
16 60 M5 HMEE | YUXY N M4 | BRETEH 95 127 R480668795
HEERAR 2 L—/
>
20 5 M5 BUEE | YIXRYBN M6 | BEIXAH 148 198 R480668796
FEEAN AO9L—N
>
20 10 M5 HMEEE | YRV M6 | EETHEH 148 198 R480668797
HEEZN 2 L=/
>
20 15 M5 MRS | YUXY N M6 | ZBEIXER 148 198 R480668798
FEEA N AO9L—N
>

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO 14

21287) 2024-01-18
EAbB AkO—2 R—k AO9L—=IN EARRY EANY XTUTILES
D', [mm] A AEE  HEEE
[mm] [N] [N]

20 20 M5 MR | YUXY N M6 | BAETEH 148 198 R480668799
FEEAK AIL—N
>
20 25 M5 BUEE | YRV M6 | BETXH 148 198 R480668800
FEEA K ATL—=NI
>
20 30 M5 BUEE | YIXRYB M6 | EETZEH 148 198 R480668801
RECZN 25 L—/
>
20 40 M5 BUEE | YIXRYKN M6 | BEIXA 148 198 R480668802
FEEA N AoL—N
>
20 50 M5 HMEE | YUXY N M6 | BETXEH 148 198 R480668803
FEEA K ATL—=NI
>
20 60 M5 BUEE | YIXRYBN M6 | BEIXHA 148 198 R480668804
FEEAN AOL—N
>
25 5 M5 HMEEE | YRV M6 | BETHEH 260 309 R480668805
HEEZN 25 L=/
>
25 10 M5 HMEE | YUXY N M6 | BAETEH 260 309 R480668806
HEEA N AO9L—N
>
25 15 M5 BUEE | YRV M6 | BEIXHA 260 309 R480668807
FEEAN AO9L—N
>
25 20 M5 HMEEE | YITXRYBN M6 | EETZEH 260 309 R480668808
HEECZN 2L—/
>
25 25 M5 HMEE | YJXY N M6 | BAETEH 260 309 R480668809
FEEAK AIL—N
>
25 30 M5 HUEE | YIXRYBN M6 | BETXH 260 309 R480668810
FEEA K ATL—=N
>
25 40 M5 BUEE | YITXRYB M6 | BEIXHA 260 309 R480668811
FEEAL AoL—N
>
25 50 M5 BURE | YIXRYKN M6 | BETIXRA 260 309 R480668812
HEERN 29 L—/
>
25 60 M5 HMEE | YUXY N M6 | BETXEH 260 309 R480668813
FEEA K ATL—=N
>
32 5 G 1/8 BUEE | YITXRYBN M8 | BETIXH 435 507 R480668814
FEEAN AOL—N
>
32 10 G 1/8 BMEEE | YIXRYBN M8 | BETXR 435 507 R480668815
FEEA L AoL—N
>
32 15 G 1/8 HMEE | YUXY N M8| BRAET XM 435 507 R480668816
HEEA N AO9L—N
>

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 15
21287) 2024-01-18
EX b AhO—=72 R—h AIL—=N ERR> EARNY XTUT7ILES
> o A AFE O HEE
[mm] [N] [N]
32 20 G1/8 BUEE YIxYA M8 | BETXR 435 507 R480668817
HEERN AIL=N
>
32 25 G1/8 HMEE | YUXY N M8 | BETXA 435 507 R480668818
HEEAL AIL—=/\
>
32 30 G 1/8 HMEE | YUJXY N M8| BEIXAH 435 507 R480668819
REEAN A7L—=N
>
32 40 G 1/8 HMEE | YIRYN M8| BFRET XA 435 507 R480668820
FEEAR A7L—=N
>
32 50 G1/8 BUEE | YIxYE M8 | BETIXA 435 507 R480668821
HEEARL AIL—=/N\
>
32 60 G1/8 HMEE | YUXY N M8| BRETIXH 435 507 R480668822
REEAN AOL—=N
>
32 80 G1/8 HMEE | YJXY N M8| BRETIXA 435 507 R480668823
HEEAR 25 L=/
>
32 100 G1/8 BUEE YIxYH M8| BETXH 435 507 R480668824
FEEAR A7L—N
>
32 125 G1/8 BMEE | YIRYbN M8 | BETXH 435 507 R480668825
REEAN AOL—N
>
32 150 G1/8 HMEE | YJXY N M8| BREIXA 435 507 R480668826
FEEAR A7L—=N
>
40 5 G1/8 BUEE YIxYA M8 | BETXRH 720 792 R480668827
HEERN AIL—=N
>
40 10 G1/8 HMEE | YUXY N M8 | BETXA 720 792 R480668828
HEEAL AIL—=/\
>
40 15 G1/8 HMEE | YJXY N M8| BEIXAH 720 792 R480668829
REECZN 25 L—/
>
40 20 G1/8 HMEE | YIRYN M8| BFRETXA 720 792 R480668830
FEEAR A7L—=N
>
40 25 G1/8 BMEE | YIRYbA M8 | BEIXA 720 792 R480668831
HEEARN AIL—=/NN
>
40 30 G1/8 HMEE | YUXY N M8| BRETIXAH 720 792 R480668832
REECZN 25L—/%
>
40 40 G1/8 HMEE | YUY N M8| BRETIXA 720 792 R480668833
FEEAR A7L—=N
>
40 50 G1/8 BUEE YIxYA M8 | BEIXA 720 792 R480668834
HECZN 27L—N
>

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 16
21287) 2024-01-18
EX b AhO—=72 R—h AOL—=IN EARRY EAKY XTUT7ILES
> o A AFE O HEE
Ll [N] (N]
40 60 G1/8 BUEE YIxYA M8 | BETXR 720 792 R480668835
HEERN ATL—N
>
40 80 G1/8 BMEE | YIXRYA M8| BETXH 720 792 R480668836
HEEAL AIL—=/\
>
40 100 G 1/8 HMEE | YUJXY N M8| BEIXAH 720 792 R480668837
REEAN AOL—=N
>
40 125 G 1/8 HMEE | YIRYN M8 | HRETXA 720 792 R480668838
HEERR 25 L—/
>
40 150 G1/8 BUEE | YIxYE M8 | BETIXA 720 792 R480668839
HEEARL AIL—=/N\
>
50 5 G1/8 BMEE | YIXRY N M10| BEIXA 1110 1237 R480668840
REEAN AOL—=N
>
50 10 G1/8 HMEE | YJXY N M10| BREIXA 1110 1237 R480668841
FEEAR A7L—=N
>
50 15 G1/8 BUEE YIxYH M10| BEIXRH 1110 1237 R480668842
FEEAR A7L—N
>
50 20 G1/8 HMEE | YUXY N M10| BETHXM 1110 1237 R480668843
REEAN AOL—N
>
50 25 G1/8 HMEE | YJXY N M10| BREIXA 1110 1237 R480668844
FEEAR A7L—=N
>
50 30 G1/8 BUEE YIxYA M10| BEIXA 1110 1237 R480668845
HEERN AL—N
>
50 40 G1/8 HMEE | YUXY N M10| BETHER 1110 1237 R480668846
HEEAL AIL—=/\
>
50 50 G1/8 HMEE | YJXY N M10| BREIXA 1110 1237 R480668847
REEAN AOL—=N
>
50 60 G1/8 HMEE | YIRYN M10| BRETIXA 1110 1237 R480668848
FEEAR A7L—=N
>
50 80 G1/8 BUEE VIRV A M10| BETHER 1110 1237 R480668849
HEEARN AIL—=/NN
>
50 100 G1/8 BMEE | YIXRY A M10| BREIXH 1110 1237 R480668850
REECZN 29 L=/
>
50 125 G1/8 HMEE | YUY N M10| BREIXA 1110 1237 R480668851
FEEAR A7L—=N
>
50 150 G1/8 BUEE YIxYA M10| BETHXA 1110 1237 R480668852
HEERR 25 L—/
>

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO 17

21287) 2024-01-18
EAbB AkO—2 R—k AO9L—=IN EARRY EANY XTUTILES
D', [mm] A AEE  HEEE
[mm] [N] [N]

63 5 G 1/8 MR | YUXY N M10| BRETEH 1837 1964 R480668853
FEEAK AIL—N
>
63 10 G 1/8 BUEE | YRV M10| HRETXEH 1837 1964 R480668854
FEEA K ATL—=NI
>
63 15 G 1/8 BUEE | YIXRYB M10| ZEETEH 1837 1964 R480668855
RECZN 25 L—/
>
63 20 G1/8 BUEE | YIXRYKN M10| BETXRA 1837 1964 R480668856
FEEA N AoL—N
>
63 25 G 1/8 BUEE | YRV M10| BFRETEH 1837 1964 R480668857
FEEA K ATL—=NI
>
63 30 G 1/8 BUEE | YIXRYBN M10| BETXHA 1837 1964 R480668858
FEEAN AOL—N
>
63 40 G 1/8 HMEEE | YRV M10| BETXRA 1837 1964 R480668859
FEEA N AoL—N
>
63 50 G 1/8 HMEE | YUXY N M10| ZEIER 1837 1964 R480668860
HEEA N AO9L—N
>
63 60 G 1/8 BUEE | YRV M10| BETIEHA 1837 1964 R480668861
REEZN 29 L—/%
>
63 80 G 1/8 HMEEE | YITXRYBN M10| BETXA 1837 1964 R480668862
FEEAR AoL—N
>
63 100 G 1/8 HMEE | YJXY N M10| BRETEH 1837 1964 R480668863
FEEAK AIL—N
>
63 125 G 1/8 HUEE | YIXRYBN M10| BFRETXH 1837 1964 R480668864
FEEA K ATL—=N
>
63 150 G 1/8 BUEE | YITXRYB M10| ZEETEH 1837 1964 R480668865
FEEAL AoL—N
>
80 10 G1/8 BURE | YIXRYKN M12| BETXR 2969 3167 R480668866
HEERN 29 L—/
>
80 15 G 1/8 BUEE | YRV M12| BRETEH 2969 3167 R480668867
FEEA K ATL—=N
>
80 20 G 1/8 BUEE | YITXRYBN M12| BETXHA 2969 3167 R480668868
FEEAN AOL—N
>
80 25 G 1/8 BMEEE | YIXRYBN M12| BEETEHR 2969 3167 R480668869
HEEZN 25 L=/
>
80 30 G 1/8 HMEE | YUXY N M12| ZETER 2969 3167 R480668870
HEEA N AO9L—N
>

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 18
21287) 2024-01-18
EAbB AkO—2 R—k AO9L—=IN EARRY EANY NTUTINES
D', A AEE  HEEE
[mm] [N] [N]
80 40 G 1/8 MR | YUXY N M12| ZETIER 2969 3167 R480668871
FEEAK ATL—=N
>
80 50 G 1/8 BUEE | YRV M12| BETEA 2969 3167 R480668872
FEEA K ATL—=NI
>
80 60 G 1/8 HEEE | YRV M12 | EETEH 2969 3167 R480668873
HEEAN AoL—N
>
80 80 G1/8 BUEE | YIXRYKN M12| BETXR 2969 3167 R480668874
HECZN 25 L—/
>
80 100 G 1/8 HMEE | YUXY N M12| BETHER 2969 3167 R480668875
FEEA K ATL—=NI
>
80 125 G 1/8 BUEE | YIXRYBN M12| BETXHA 2969 3167 R480668876
FEEARAN AOL—N
>
80 150 G 1/8 HMEEE | YRV M12| BETEHR 2969 3167 R480668877
FEEA N AoL—N
>
100 5 G 1/8 HMEE | YUXY N M12| BRETEH 4639 4948 R480668878
HECZN 27L—/
>
100 10 G 1/8 BUEE | YRV M12| BETEHA 4639 4948 R480668879
HEEARAN AO9L—N
>
100 15 G 1/8 HMEEE | YITXRYBN M12| EETEH 4639 4948 R480668880
FEEAR AoL—N
>
100 20 G 1/8 HMEE | YJXY N M12| ZBETIER 4639 4948 R480668881
FEEAK ATL—=N
>
100 25 G 1/8 HUEE | YIXRYBN M12| BRETEH 4639 4948 R480668882
FEEA K ATL—=N
>
100 30 G 1/8 HEEE | YRV M12 | EETEH 4639 4948 R480668883
HEEAN AoL—N
>
100 40 G1/8 BURE | YIXRYKN M12| BETXR 4639 4948 R480668884
FEEA N AoL—N
>
100 50 G 1/8 HMEE | YUXY N M12| BRETEH 4639 4948 R480668885
FEEA K ATL—=N
>
100 60 G 1/8 BUEE | YITXRYBN M12 | EETEH 4639 4948 R480668886
FEEARAN AOL—N
>
100 80 G 1/8 BMEEE | YIXRYBN M12| BEETEHR 4639 4948 R480668887
FEEA L AoL—N
>
100 100 G 1/8 HMEE | YUXY N M12| ZETER 4639 4948 R480668888
HEEA N AO9L—N
>

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO 19

21287) 2024-01-18
EAN AkO—2 R—K
D) [mm]
[mm]
100 125 G 1/8 EUEE | YIXRYHN M12| EBETEHR 4639 4948 R480668889
FEERN AIL—N
>
100 150 G1/8 HEEE | YRV M12| BETEH 4639 4948 R480668890
FEEAN AIL—N
>
&
3216 - 63 ZA+S
BG BG EE
LA1 x LA B1 PL _PL
I
Q i ’4LIJ E
______ =g 4@ ‘
[ R f—f@—w A ——— 1
S — 5 | ¢
| — —
WH TG e
A Be E
ZB+S
| | N :
1 1 EE
@80 -100 I _
ST = L I — ©ry
1] Q
L
E
- S
S=2kO-—7

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 20
21287) 2024-01-18

BeRL  Himrce
20 10 3.8 15 36.5 M5 3.1 M6 4.8 4.6 3.7
25 10 3.8 15 40.5 M5 3.1 M6 4.8 4.6 3.7
32 12 3.8 16 49.5 G1/8 3.1 M8 4.8 4.8 5
40 12 3.8 16 57.5 G1/8 3.1 M8 4.8 4.8 5
50 16 3.8 16 69.5 G1/8 3.1 M10 4.8 4.8 5.7
63 16 3.8 16 79.5 G1/8 3.1 M10 4.8 4.8 5.7
80 20 3.8 17 98** G1/8 3.1 M12 0 0 7
100 20 3.8 17 115.5 G1/8 3.1 M12 0 0 7.5
EANY O PL RR &/} RT SW TG WH ZA +S ZB +S
16 5 3.2 M4 7 18 0,4 48+14 36 40.8
20 5 4.1 M5 8 22+0,4 6+1,4 37 43
25 5 4.1 M5 8 26 0,4 61,4 39 45
32 7.5 5.1 M6 10 32,5+0,5 7£16 44 51
40 7.5 5.1 M6 10 38 £0,5 7£16 45 52
50 7.5 6.4 M8 13 46,5 0,6 81,6 45.5 53.5
63 7.5 6.4 M8 13 56,5 +0,7 81,6 49 57
80 7.5 8.4 M10 16 72 +0,7 10 2 54 64
100 7.5 8.4 M10 21 89 +0,7 10 £2 67 77
4

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO
21287)

21
2024-01-18

1ISO 21287, /1) — X CCL-IC

ISO 21287
mPACANDZ S VAN EL DU S
RRBE .
BERMITOMERAICESE S
ATEXTAT> 3> -
BB -
B
XTRY MIEEARY G |
BPEEE
i#thU \G
iy t
27 )L B
A7 a3 THRMmY
ATEXTAT> 3>
EAN  ARO=Z K-k EARY  ERRY  XFUTILES
v o [mm] HAKBE S HEE
(mm] NI [N]
16 5 M5 HMEE | YIXRY A M6 | HETXA 95 127 R480668683
HEERR ATL—=/\
p
16 10 M5 MRS | VIRV M6| BETHER 95 127 R480668684
HEERR ATL—N
Y
16 15 M5 BUEE| YIxRYE M6| BRETHER 95 127 R480668685
HEER ATL—=N
Y
16 20 M5 BMEE | YIXRYA M6 | EETXHA 95 127 R480668686
HEEAN AOL—=N
p
16 25 M5 BUEE | YIxYA M6 | RETXR 95 127 R480668687
HEERR ATL—=)\
p
16 30 M5 MRS | IRV M6 | BETXEA 95 127 R480668688
HEERR AIL—=N
p
16 40 M5 HMEE | YIXRYA M6 | EETXH 95 127 R480668689
HEER AOL—=N
p
16 50 M5 BUEE YIxRYK M6 | RETXA 95 127 R480668690
HEERR ATL—=/\
p
16 60 M5 MRS | IRV M6 | BEIXEA 95 127 R480668691
HEERR AIL—=N
p
20 5 M5 BUEE| IRV bE M8| JRETHER 148 198 R480668692
HEEAR AIL—=N
7
20 10 M5 HMEE | YIXRYA M8 | HETXA 148 198 R480668693
HEERR ATL—=/\
p
20 15 M5 MRS | VIRV M8| BETHER 148 198 R480668694
HEERR AIL—N
Y

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO 22

21287) 2024-01-18
EAbB AkO—2 R—k w=E AO9L—=IN EARRY EANY NTUTINES
D', [mm] A AEE  HEEE
[mm] [N] [N]

20 20 M5 MR | YUXY N M8 | ZBEIXR 148 198 R480668695
FEEAK ATL—=N
>
20 25 M5 BUEE | YRV M8| BETXH 148 198 R480668696
FEEA K ATL—=NI
>
20 30 M5 HEEE | YRV M8 | EETZEH 148 198 R480668697
RECZN 25 L—/
>
20 40 M5 BUEE | YIXRYKN M8 | BRETXA 148 198 R480668698
FEEA N AoL—N
>
20 50 M5 BMEE | YIRY A M8| BFEETXH 148 198 R480668699
FEEA K ATL—=NI
>
20 60 M5 BUEE | YIXRYBN M8 | BETXHA 148 198 R480668700
FEEARAN AOL—N
>
25 5 M5 HMEEE | YRV M8 | BEETHEH 260 309 R480668701
HEEAR 25 L=/
>
25 10 M5 HMEE | YUXY N M8 | ZBEIXR 260 309 R480668702
HEEA N AO9L—N
>
25 15 M5 BUEE | YRV M8 | BETIXHA 260 309 R480668703
HEEARAN AO9L—N
>
25 20 M5 HMEEE | YITXRYBN M8 | EETZEH 260 309 R480668704
HEEAR 2L—/
>
25 25 M5 HMEE | YJXY N M8 | EBEIXR 260 309 R480668705
FEEAK ATL—=N
>
25 30 M5 HUEE | YIXRYBN M8| BETXH 260 309 R480668706
FEEA K ATL—=N
>
25 40 M5 BUEE | YITXRYB M8 | BETIXHA 260 309 R480668707
HEEAN AoL—N
>
25 50 M5 BURE | YIXRYKN M8 | BETXA 260 309 R480668708
HECZN 29 L—/
>
25 60 M5 HMEE | YUXY N M8 | BEIXRA 260 309 R480668709
FEEA K ATL—=N
>
32 5 G 1/8 BUEE | YITXRYBN M10x1,25 | ZET¥H 435 507 R480668710
REECZN 25L—/%
>
32 10 G 1/8 BMEEE | YIXRYBN M10x1,25 | ZETEMH 435 507 R480668711
FEEA L AoL—N
>
32 15 G 1/8 BUEE | YIXRYHN M10x1,25 | BEEIT¥#H 435 507 R480668712
HECZN 27L—N
>

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 23
21287) 2024-01-18
EX b AhO—=72 R—h AIL—=N ERR> EARNY XTUT7ILES
> o A AFE O HEE
[mm] [N] [N]
32 20 G1/8 MR | YUXY N M10x1,25 | BETHM 435 507 R480668713
HEERN AIL=N
>
32 25 G1/8 HMEE | YUXY N M10x1,25 | HRETHM 435 507 R480668714
HEEAL AIL—=/\
>
32 30 G 1/8 HMEE | YUJXY N M10x1,25 | BEIXEH 435 507 R480668715
REEAN A7L—=N
>
32 40 G 1/8 HMEE | YIRYN M10x1,25 | HETZA 435 507 R480668716
FEEAR A7L—=N
>
32 50 G1/8 BUEE | YIxYE M10x1,25 | RETHM 435 507 R480668717
HEEARL AIL—=/N\
>
32 60 G1/8 HMEE | YUXY N M10x1,25 | HRETHMA 435 507 R480668718
REEAN AOL—=N
>
32 80 G1/8 HMEE | YJXY N M10x1,25 | BEIT¥HA 435 507 R480668719
FEEAR A7L—=N
>
32 100 G1/8 HMEE | YUXY N M10x1,25 | RETHEM 435 507 R480668720
FEEAR A7L—N
>
32 125 G1/8 BMEE | YIRYbN M10x1,25 | BETXA 435 507 R480668721
REEAN AOL—N
>
32 150 G1/8 HMEE | YJXY N M10x1,25 | BEI¥HA 435 507 R480668722
FEEAR A7L—=N
>
40 5 G1/8 HMEE | YJXY N M10x1,25 | BET XA 720 792 R480668723
HEERN AIL—=N
>
40 10 G1/8 HMEE | YUXY N M10x1,25 | HRETHMA 720 792 R480668724
HEEAL AIL—=/\
>
40 15 G1/8 HMEE | YJXY N M10x1,25 | BEI XM 720 792 R480668725
REECZN 25 L—/
>
40 20 G1/8 HMEE | YIRYN M10x1,25 | RETZA 720 792 R480668726
FEEAR A7L—=N
>
40 25 G18| THEE| ITZYN| M10x125| EETEM 720 792 RA480668727
HEEARN AIL—=/NN
>
40 30 G1/8 HMEE | YUXY N M10x1,25 | BRETHMA 720 792 R480668728
REEAN AOL—=N
>
40 40 G1/8 HMEE | YUY N M10x1,25 | BEIT¥HA 720 792 R480668729
FEEAR A7L—=N
>
40 50 G1/8 HMEE | YUXY N M10x1,25 | BEIXMA 720 792 R480668730
HECZN 27L—N
>

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 24
21287) 2024-01-18
EAbB AkO—2 R—k AO9L—=IN EARRY EANY XTUTILES
D', A AEE  HEEE
[mm] [N] [N]
40 60 G 1/8 EUEE | YIXRYHN M10x1,25 | EET¥#H 720 792 R480668731
FEEAK AIL—N
>
40 80 G 1/8 BUEE | YRV M10x1,25 | BET¥H 720 792 R480668732
FEEA K ATL—=NI
>
40 100 G 1/8 BUEE | YIXRYB M10x1,25 | ZET¥H 720 792 R480668733
FEEAL AoL—N
>
40 125 G1/8 BUEE | YIXRYKN M10x1,25 | ZEETEMH 720 792 R480668734
FEEA N AoL—N
>
40 150 G 1/8 HMEE | YUXY N M10x1,25 | BEIT¥#H 720 792 R480668735
FEEA K ATL—=NI
>
50 5 G 1/8 BUEE | YIXRYBN M12x1,25 | ZET¥H 1110 1237 R480668736
FEEAN AOL—N
>
50 10 G 1/8 HMEEE | YRV M12x1,25 | ZET¥H 1110 1237 R480668737
FEEA N AoL—N
>
50 15 G 1/8 BUEE | YRV N M12x1,25 | BEEIT¥#H 1110 1237 R480668738
HEERR 24 L—/
>
50 20 G 1/8 BUEE | YRV M12x1,25| BETEH 1110 1237 R480668739
FEEAN AO9L—N
>
50 25 G 1/8 HMEEE | YITXRYBN M12x1,25 | ZETHH 1110 1237 R480668740
FEEAR AoL—N
>
50 30 G 1/8 EUEE | YIXRYN M12x1,25| EET¥#H 1110 1237 R480668741
FEEAK AIL—N
>
50 40 G 1/8 HUEE | YIXRYBN M12x1,25| BET¥H 1110 1237 R480668742
FEEA K ATL—=N
>
50 50 G 1/8 BUEE | YITXRYB M12x1,25 | ZET¥MH 1110 1237 R480668743
FEEAL AoL—N
>
50 60 G1/8 BURE | YIXRYKN M12x1,25 | BETEMA 1110 1237 R480668744
FEEA N AoL—N
>
50 80 G1/8 HMEE | YUXY N M12x1,25 | BRETHEM 1110 1237 R480668745
FEEA K ATL—=N
>
50 100 G 1/8 BUEE | YITXRYBN M12x1,25 | ZET¥H 1110 1237 R480668746
FEEAN AOL—N
>
50 125 G 1/8 BMEEE | YIXRYBN M12x1,25 | ZET¥MH 1110 1237 R480668747
FEEA L AoL—N
>
50 150 G 1/8 BUEE | YIXRYHN M12x1,25 | BEET¥#H 1110 1237 R480668748
HEEA N AO9L—N
>

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO 25

21287) 2024-01-18
EAbB AkO—2 R—k AO9L—=IN EARRY EANY NTUTINES
D', [mm] A AEE  HEEE
[mm] [N] [N]

63 5 G 1/8 EUEE | YIXRYHN M12x1,25 | EET¥#H 1837 1964 R480668749
FEEAK ATL—=N
>
63 10 G 1/8 BUEE | YRV M12x1,25| BET¥H 1837 1964 R480668750
FEEA K ATL—=NI
>
63 15 G 1/8 HEEE | YRV M12x1,25 | ZET¥H 1837 1964 R480668751
RECZN 25 L—/
>
63 20 G1/8 BUEE | YIXRYKN M12x1,25 | BETEMH 1837 1964 R480668752
FEEA N AoL—N
>
63 25 G 1/8 BUEE | YRV M12x1,25 | BEI¥#H 1837 1964 R480668753
FEEA K ATL—=NI
>
63 30 G 1/8 BUEE | YIXRYBN M12x1,25 | ZET¥H 1837 1964 R480668754
FEEARAN AOL—N
>
63 40 G 1/8 HMEEE | YRV M12x1,25 | ZET¥H 1837 1964 R480668755
FEEA N AoL—N
>
63 50 G 1/8 BUEE | YRV N M12x1,25 | BEEIT¥#H 1837 1964 R480668756
HECZN 27L—/
>
63 60 G 1/8 BUEE | YRV M12x1,25| BETEH 1837 1964 R480668757
HEEARAN AO9L—N
>
63 80 G 1/8 HMEEE | YITXRYBN M12x1,25 | ZETHH 1837 1964 R480668758
FEEAR AoL—N
>
63 100 G 1/8 EUEE | YIXRYN M12x1,25| EET¥#H 1837 1964 R480668759
FEEAK ATL—=N
>
63 125 G 1/8 HUEE | YIXRYBN M12x1,25| BET¥H 1837 1964 R480668760
FEEA K ATL—=N
>
63 150 G 1/8 HEEE | YRV M12x1,25 | ZET¥MH 1837 1964 R480668761
HEEAN AoL—N
>
80 10 G1/8 BURE | YIXRYKN M16x1,5| ZEEIEH 2969 3167 R480668762
HECZN 29 L—/
>
80 15 G 1/8 BUEE | YRV M16x1,5| BEIHERA 2969 3167 R480668763
FEEA K ATL—=N
>
80 20 G 1/8 BUEE | YITXRYBN M16x1,5| ZETH¥HA 2969 3167 R480668764
REECZN 25L—/%
>
80 25 G 1/8 BMEEE | YIXRYBN M16x1,5| ZETEH 2969 3167 R480668765
FEEA L AoL—N
>
80 30 G 1/8 BUEE | YIXRYHN M16x1,5| ZBEIXERA 2969 3167 R480668766
HEEA N AO9L—N
>

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 26
21287) 2024-01-18
EX b AhO—=72 R—h AIL—=N ERR> EARNY XTUT7ILES
> o A AFE O HEE
[mm] [N] [N]
80 40 G1/8 MR | YUXY N M16x1,5| EEIHEA 2969 3167 R480668767
HEERN AIL=N
>
80 50 G1/8 BMEE | YIXRYA M16x1,5| HRETXA 2969 3167 R480668768
HEEAL AIL—=/\
>
80 60 G 1/8 HMEE | YUJXY N M16x1,5| BEIXHA 2969 3167 R480668769
REEAN A7L—=N
>
80 80 G 1/8 HMEE | YIRYN M16x1,5| HEIXA 2969 3167 R480668770
HECZN 25 L—/
>
80 100 G1/8 BUEE | YIxYE M16x1,5| HRETIXA 2969 3167 R480668771
HEEARL AIL—=/N\
>
80 125 G1/8 HMEE | YUXY N M16x1,5| EETXEH 2969 3167 R480668772
REEAN AOL—=N
>
80 150 G1/8 HMEE | YJXY N M16x1,5| BEEIXA 2969 3167 R480668773
HEEAR 25 L=/
>
100 5 G1/8 HMEE | YUXY N M16x1,5| BEIHEA 4639 4948 R480668774
FEEAR A7L—N
>
100 10 G1/8 BMEE | YIRYbN M16x1,5| BETEH 4639 4948 R480668775
REEAN AOL—N
>
100 15 G1/8 HMEE | YJXY N M16x1,5| HEIXA 4639 4948 R480668776
FEEAR A7L—=N
>
100 20 G1/8 HMEE | YJXY N M16x1,5| BETER 4639 4948 R480668777
HEERN AIL—=N
>
100 25 G1/8 HMEE | YUXY N M16x1,5| BETEH 4639 4948 R480668778
HEEAL AIL—=/\
>
100 30 G1/8 HMEE | YJXY N M16x1,5| BEIXHA 4639 4948 R480668779
REEAN A7L—=N
>
100 40 G1/8 HMEE | YIRYN M16x1,5| HEETIXA 4639 4948 R480668780
FEEAR A7L—=N
>
100 50 G1/8 BUEE VIRV A M16x1,5| HRETIXA 4639 4948 R480668781
HEEARN AIL—=/NN
>
100 60 G1/8 HMEE | YUXY N M16x1,5| HETIH¥A 4639 4948 R480668782
REEAN AOL—=N
>
100 80 G1/8 HMEE | YUY N M16x1,5| HEEIXA 4639 4948 R480668783
FEEAR A7L—=N
>
100 100 G1/8 HMEE | YUXY N M16x1,5| BEIHEA 4639 4948 R480668784
FEEAR A7L—N
>

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO 27

21287) 2024-01-18
EAK AhO—=72 R—h =& ERE EAK A7L—=N
> o [mm] AR pZ;: 2 -10
[mm]
100 125 G1/8 BMEE | YIRYbN M16x1,5| BETER 4639 4948 R480668785
HEERN AIL=N
>
100 150 G1/8 BMEE | YIXRYA M16x1,5| HRETXA 4639 4948 R480668786
FEEAN AIL—=/\
>
Y&
216 - 63
ZA+S
BG BG
LA1 LA EE

B1 PL PL

- 3 oA — —
KV | e
KW TG o
LW E
WH =]
ZB+S
—
S — St
EE -
280 - 100
e @

M M)
—the &= || A
/ -

S=2Z2hk0O—7%

EMERSON.



AVENTICS CCL-IC > U —X Z#21) A (ISO 28
21287) 2024-01-18
EALY O A B1 BG &/ E EE H KK KV KW LA
16 12 3.8 15 29 M5 3.4 M6 10 3.2 35
20 16 38 15 365 M5 3.1 M8 13 4 48
25 16 38 15 405 M5 3.4 M8 13 4 48
32 19 38 16 495 G1/8 3.4 M10x1.25 17 5 48
40 19 38 16 575 G118 3.1 M10x1.25 17 5 48
50 22 38 16 695 G118 3.4 M12x1.25 18 6 48
63 22 38 16 795 G1/8 3.4 M12x1.25 18 6 48
80 28 38 17 B G118 3.4 M16x1.5 24 8 0
100 28 38 17 1155 G118 3.4 M16x1.5 24 8 0
16 35 3.2 3.2 8 5 3.2 M4 7 7 18 +0,4
20 46 37 37 10 5 4.1 M5 8 8 22 0.4
25 46 3.7 3.7 10 5 4.1 M5 8 8 26 £0,4
32 48 5 5 12 75 5.4 M6 10 10* 32,5405
40 48 5 5* 12 75 5.4 M6 10 10* 38405
50 48 57 48" 16 75 6.4 M8 13 13+ 46,5 0,6
63 48 57 48 16 75 6.4 M8 13 13+ 56,5 £0,7
80 0 7 6.4* 20 75 8.4 M10 16 16* 72407
100 0 75 6.4* 25 75 8.4 M10 21 21 89107
EALY O WH ZA+S 7B+S
16 4814 36 40.8
20 614 37 43
25 614 39 45
32 716 44 51
40 716 45 52
50 816 455 535
63 81,6 49 57
80 10 £2 54 64
100 10 +2 67 77

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO

21287)

29
2024-01-18

OvY R LEAET T AB3, > 1) —X CM1

REIR V) 312 -0(E &)

[mm]
12,16 6 ATVLARF=I 3323416000
20, 25 8 ATVLARF—I 3323420000
32 10 ATVLARF=I 3323432000
o = -l —
Y (
lli y
-l
L
L'_'_!_'_‘j Al
1
— - g - =g
| el
|l -~
EANY O 37_— IJ.:. CM J CK CL FL FO MR aT B UH
7INES
8,10 1827001447 8,1 4 13,1 24 1,5 5 4,5 12,5 20
8,10 3323410000 8 4 13 24 1,5 5 4.5 12 20
12,16 1827001446 12,1 6 18,1 27 2,0 7 55 15 25
12,16 3323416000 12 6 18 27 2,0 7 5.5 15 25
20, 25 1827001445 16,1 8 241 30 4,0 10 6,6 20 32
20, 25 3323420000 16 8 24 30 4,0 10 6.6 22 34
32 3323432000 26 10 36 32 6,0 12 6.6 24 36

EMERSON.



30
2024-01-18

AVENTICS CCL-IC U —X &% 1) > 4 (1ISO
21287)

Ov R LEAET T AB6, 1) —X CM1

ISO 15552

REB Y 32 -0(EE)

[mm]
32 10 ISO 15552 TILIZOA 1827001593
40 12 1ISO 15552 TILZIZOLA 1827001594
50 16 ISO 15552 TILZZOA 1827001595
63 16 1ISO 15552 TILZIZOA 1827002024
80 20 1ISO 15552 TILZIZOLA 1827001597
100 20 ISO 15552 TILZZOA 1827001598
CP
CG
o L4
o ©
l S|, S
r L
@] | ﬁ szl
\E& i 3 s 7 | ©
- e LIJ (D __EI — __121 D _'.. / i
- L
R4 A S L] |
fin) SR
N4 |
T || L11
L1 ||
FM

CG D10 CPd12
32 1827001593 3.3 10 14 34 6.6 1" 30 46 22
40 1827001594 4.3 12 16 40 6.6 1" 35 52 25
50 1827001595 4.3 16 21 45 9 15 40 64 27

Q

&

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 31
21287) 2024-01-18
@ CF F7 CG D10 CP d12

63 1827002024 4.3 16 21 51 9 15 45 74 32

80 1827001597 4.3 20 25 65 11 18 45 % 36

100 1827001598 4.3 20 25 75 11 18 55 113 41

125 1827001599 6.3 30 37 97 14 20 60 138 50

160 1827001600 6.3 35 43 122 18 26 65 180 55

200 1827001601 6.3 35 43 122 18 26 75 220 60

250 1827001602 8.3 40 49 125 22 33 90 280 70

320 5239013432 8.3 50 60 150 26 36 110 340 80

32 4.5 5.5 16.5 17 10 3 32,56 +0,2
40 4.5 5.5 18 20 12 4 38 10,2
50 4.5 6.5 23 22 15 4 46,5 0,2
63 4.5 6.5 23 25 15 4 56,5 +0,2
80 4.5 10 27 30 20 4 72 10,2
100 4.5 10 27 32 20 4 89 £0,2
125 7 10 40 42 26 6 110 £0,3
160 10 10 45 46 325 6 140 £0,3
200 10 11 45 49 325 6 175+0,3
250 12 1" 53 55 40 8 220 +0,3
320 1" 15 69 65 50 8 270 0,3

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 32
21287) 2024-01-18

Oy R LEAEMT T MP2, 1) —X CM1

KREB V) HMZ-O(ER) NTUTILES
[mm]
32 10 1ISO 15552 TILZZIA 3682903590
40 12 1ISO 15552 TILZZOA 3682904590
50 12 1ISO 15552 TFILZZJA 3682905590
63 16 1ISO 15552 TFILZZIA 3682906590
80 16 1ISO 15552 TILZZIA 3682908590
100 20 1ISO 15552 FILZZJA 3682910590
E ., ,._@CD
L L 1 —
I A N o
) ©—
' | . | -Ih o
LL i r == =
! “ =
- | =L
Y @! | = e
-..CB . . L -
UB FL
VB | | MR

CB H14 @ CD H9
32 3682903590 26 10 47 22 10,2 12 10 45 50 32,5+0,2
40 3682904590 28 12 54 25+0,2 15 12 52 57 38,0 0,2
50 3682905590 32 12 65 27 +0,2 15 12 60 65 46,5 0,2
63 3682906590 40 16 75 32+0,2 20 15 70 76 56,5 +0,2
80 3682908590 50 16 94 36 £0,2 20 17 90 96 72,0 0,2
100 3682910590 60 20 112 41 £0,2 25 21 110 117 89,0 0,2
125 R412025571 70 25 138 50 30 26 130 140 110,0 £0,3

Q

&

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 33
21287) 2024-01-18

I L ERABEA T MP4-HD, ') —X CM1

REB Y 32 -0(EE)

[mm]
16 6 TILE I LAMESE 1825805368
20 8 1SO 21287 AF—)L, VOLXY* 1827002300
25 8 ISO 21287 AF=I, FOLXY F 1827002301
32 10 1SO 15552 TLEZUA 1827001283
40 12 ISO 15552 FILZZOA 1827001284
50 12 ISO 15552 FILZZT A 1827001285
63 16 1SO 15552 FLEZUA 1827020086
80 16 1SO 15552 TLEZUA 1827001287
100 20 ISO 15552 TFINZZOA 1827001288
MR L EW
I | :
P ‘ AT ) 1
v | o I Q | A
S 7/ TR
PN
a ot S O 16!
o M Q A i v, Y
L1
L TG
FL E

1
[
A
|

16 1825805368 6 10 H13 4.5 27 12-0.2/-0.6 16 2.6 10 3
20 1827002300 8 12 H13 5.5 34 16 -0.2/-0.6 20 2.6 14 3
25 1827002301 8 12 H13 5.5 40 16 -0.2/-0.6 20 2.6 14 3
32 1827001283 10 30 H11 6.6 47.5 26 -0.2/-0.6 22 5.5 12 4.5
40 1827001284 12 35 H11 6.6 53.5 28 -0.2/-0.6 25 5.5 15 4.5
50 1827001285 12 40 H11 9 64 32-0.2/-0.6 27 6.5 15 4.5
63 1827020086 16 45 H11 9 74 40-0.2/-0.6 32 6.5 20 4.5

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO 34

21287) 2024-01-18
L &/ L1 &
80 1827001287 16 45 H11 11 94 50-0.2/-0.6 36 10 20 45
100 1827001288 20 55 H11 11 1135 60 -0.2/-0.6 41 10 25 45
125 1827004866 25 60 H11 14 138 70-0.5/-1.2 50 10 30 7
160 1827004867 30 65 H11 18 180 90 -0.5/-1.2 55 10 35 7
200 1827004868 30 75 H11 18 220 90 -0.5/-1.2 60 11 35 7
250 1827004869 40 90 H11 22 280 110-0.5/-1.2 70 11 45 11
320 5239813412 45 110 H11 26 350 120 -0.5/-1.2 80 15 50 11
EANY O MR &K TG
16 6 18 0.2
20 8 22104
25 8 26 +0.4
32 10 32,5 +0.2
40 12 38+0.2
50 12 46.5 0.2
63 16 56.5 £0.2
80 16 72 £0.2
100 20 89 0.2
125 26 110 £0.3
160 31 140 0.3
200 31 175 0.3
250 41 220 0.3
320 45 270 +0.3
Q

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 35
21287) 2024-01-18

I L EABEA T MP6, =) —X CM1

REB Y 32 -0(EE) RTUTINES
[mm]

32 10 ISO 15552 | FILZZJ LA (BESLVE 2798060320
BERAL )

40 12 ISO 6431 TFIZZOA 3663604000

50 16 ISO 15552 | I ZZD L (BEHB LV R412025637
WAL )

63 16 ISO 15552 | FILZZJ LA (BESLVE 2798060630
BERAL )

80 20 ISO 15552 | FILZZVA (BESLVE R412025638
BEAY )

100 20 ISO 15552 | ZILZZV L (BRESB LV 2798061000
BB )

n
=
1 <
5I —
|
-
‘.|.‘ al
Y
&
T8
E

MRIZY M JLERBERMG, BERUNSE

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 36
21287) 2024-01-18

EANY @ 77)3_%)% @GCX H7 @D H11 @D1 H13 DL £0,2
25 3663602000 10 18 5,5 20 40 9 14 8 6
32 3663603000 10 20 5.5 22 46 9 15 8 6
40 3663604000 12 30 6.6 28 55 12 17 9.5 8
52,5 3663605000 12 40 6,6 28 62 12 17 9.5 9
63 5220163442 10 - 7.5 29 45 14 15 10.5 8
75 3663606000 16 55 9 36 80 16 25 12,5 11
80 5220363442 12 - 10 26 65 16 18 12 10
80 3663608000 16 70 9 38 94 16 28 12,5 12
85, 95 5220463442 16 - 10 30 75 21 22 15 10
100 3663610000 20 90 11 43 114 20 35 16 15
115 5220563442 16 - 12 37.5 95 21 25 15 12

3

32 0.5 42 6 15 16 32
40 0.5 48 8 17 16 32
52,5 0,5 55 9 17 18 46
63 - - - - - 33
75 0,5 70 11 25 21 59
80 - - - - - 49
80 0,5 80 12 28 21 73
85, 95 - - - - - 59
100 0,5 100 15 35 28 90
115 - - - - - 75

EMERSON.




AVENTICS CCL-IC U —X &% 1) > 4 (1ISO

21287)

37

2024-01-18

I L EABEA T MPY, =) —X CM1

EANOER REB V) #MZ-0(ER) XTUTILES
[mm] [mm]
32 10 ISO 15552 FILZZDA 3683203000
50 12 ISO 15552 FILEZZIA 3683205000
80 16 ISO 15552 FILEZOA 3683208000
50 12 FILZZIA 3663205000
80 16 FILEZDA 3663208000
EW
2, EF _ 4 x1S0O 4762
'p 1 \ 1
D
Ol *)\__ 4 x 1ISO 7089/7092
A [ <
1 -l -
T ! | L
== : . | e —N |
v [ | | [ [/ A]
| l A
— D1
_I - —
@D
E
) :
i )
| ol @
w| - ———|——— =
——I—ﬁ
J
y . i
T
TG
NHILRT v

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 38
21287) 2024-01-18

TG1 +0,2

32 3683203000 10 - 46 255 18,9 325 22 13.8

50 3683205000 - 12 65 31 28 46.5 27 17.3

50 3663205000 12 63 31 46 28 15.5

80 3663208000 16 95 49.5 73 38 20.5

80 3683208000 - 16 945 49.5 43 72 36 218

125 R412015973 - 25 138 69.5 60 110 50 33.8
EANY @ MR L1 L4 D H11 D1 H13

32 12.5 5 55 30 6.6

50 16 5 6.5 40 9

50 18

80 24

80 22 5 10 45 1"

125 34 75 10 60 13.5

EMERSON.




AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 39
21287) 2024-01-18

I L EABEA T MPY, =) —X CM1

REB Y 32 -0(EE)

[mm]
25 10 ISO 21287 TILZZH AESHiE 3683202000
40 12 ISO 15552 FIZZIA 3683204000
63 16 ISO 15552 FILZIZHA 3683206000
100 20 ISO 15552 FILZIZIA 3683210000
EW
== 4 x|SO 4762
X
’%9 1 |
-
] [y " 4
> &) | SO — | x 1ISO 7089/7092
A ] ( Q]’
|
i I T | . j
== R = Y r s > )
r B TN —f VTR
E 0 . 2D
K | &
_r_'_+_
LY -
~ , [e)]
- b it LA (D
- *K gy P
|
SO
TG /<\X
TG1
NHILRT v

TG1 0,2

25 3683202000 10 - 40 17.5 14,5 26 27 20 14.8

Q

&

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO 40

21287) 2024-01-18
TG1 £0,2
40 3683204000 - 12 53 27 23,5 38 40 25 16.3
63 3683206000 - 16 75 39.5 335 56.5 59 32 223
100 3683210000 - 20 114 59.5 54 89 90 41 25.8

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 41
21287) 2024-01-18

BEERY NS4 Y N MT5, MT6, 1) — X CM1

EANOER ME RXTUTILES
[mm]
20 RIREBHE SO B 1825805360
25 BIREBHE SO H 1825805361
32 HIREBHE ST HK 1827001609
25 FINZZDA R412026354
40 BREBHE SO B 1827001610
50 KIREBMESTHHK 1827001611
63 BIRBHE SO H 1827002046
80 HRREBHE S OB 1827001613
100 KIRBMESTHHK 1827001614
0 |
= [
&r ' ~
@) = 3| AT
= o a Q
| ] Y
‘ T =4
! ; i
TK

TL h14 TM h14
20 1825805360 18 5.5 10 8 12 22 14 12 38
25 1825805361 22 5.5 10 8 12 26 14 12 42
25 R412026354 24 5.5 10 8 12 26 14 12 42
32 1825805362 32 6.6 10.5 7 12 32 14 12 52
32 1827001609 30 6.6 11 7.5 12 325 16 12 50
40 1825805363 46 6.6 1" 12 16 42 19 16 63
40 1827001610 35 6.6 1" 7.5 16 38 20 16 63
50 1825805364 53 9 14 10 16 50 19 16 75
4

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO 42

21287) 2024-01-18
TL h14 TM h14

50 1827001611 40 9 15 10 16 465 24 16 75
63 1825805365 69 9 15 15 20 62 24 20 2
63 1827002046 45 9 15 10 20 56.5 24 20 90
80 1825805366 87 11 18 13 20 82 24 20 110
80 1827001613 45 11 18 16 20 72 28 20 110
100 1825805367 55 11 18 18 25 103 29 25 132
100 1827001614 55 11 18 255 25 89 38 25 132
125 1827001615 60 14 20 34 25 110 46 25 160
160 1827001616 65 18 26 38 32 140 50 32 200
200 1827001617 75 18 26 40 32 175 60 32 250
250 1827001618 9 22 33 57 40 220 70 40 320

EANY @ uw
20 35
25 39
25 39
32 46
32 48
40 59
40 56
50 69
50 65
63 84
63 75
80 102
80 100
100 125
100 120
125 145
160 184
200 224
250 286

Q

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 43
21287) 2024-01-18

BT AT4, >1)—X CM1
IS0 15552

REB Y 32 -0(EE)

[mm]
20, 25, 32 12 1ISO 15552 AF—=I), VO0LXY F 1827001603
40, 50 16 1ISO 15552 AF=), V04LXY F 1827001604
63, 80 20 1ISO 15552 AF=I), VO0LXY* 1827001605
100, 125 25 1ISO 15552 AF—=I), VO0LXY F 1827001606
., __@HB
R A A-A
T ] R
| \I _| —lf A
z o
| | J|_: : S
L Ly | E !
il - ! Y 7
e
o uL B -
e
= RN/
zZ B = T— —] — ]
, A
T i
EANY O R UL NH TH © CR H9 HB H13 FN FK
TILES
20, 25, 32 1827001603 46 18 32 0,2 10.5 12 6.6 30 15 +0,1
40, 50 1827001604 55 21 36 £0,2 12 16 9 36 18 £0,1
63, 80 1827001605 65 23 42 +0,2 13 20 1 40 20 +0,1
100, 125 1827001606 75 28.5 50 +0,2 16 25 14 50 25 +0,1
160, 200 1827001607 92 40 60 £0,3 225 32 18 60 30 0,2
250 1827001608 140 50 90 0,3 27.5 40 22 70 35 10,2
320 R412018903 150 60 100 325 50 26 80 40

Q

&

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 44
21287) 2024-01-18

722 TBFH MF1, MF2, 1) — X CM1

ISO 15552
EARNOER b2 d ME XTUTILES
[mm]
32 ISO 15552 AF—)L, FOLXYF 1827001277
40 ISO 15552 AF—), YOLXY * 1827001278
50 ISO 15552 AF—)L, JOLXY * 1827001279
63 ISO 15552 AF—)L, JOLXY * 1827001499
80 ISO 15552 AF—), YOLXY F 1827001281
100 ISO 15552 AF—), JOLXY * 1827001282
oz | VN
11 O, | m
A : : é
1| L uwl O [ i |
D |
Y Y
Y
1A @~
A A Y " |
S o5 ; o | -@-
S 4 |
L4 _R
o MF 1G _
- E —
EANY @ X7 ad H11 ad1 @d2 E&X OFB L4 MF R TF
FLES
32 1827001277 30 6.6 1 50 7 4.5 10 32 64
40 1827001278 35 6.6 1 55 9 4.5 10 36 72
50 1827001279 40 9 15 65 9 6 12 45 90
63 1827001499 45 9 15 75 9 6 12 50 100
80 1827001281 45 1 18 100 12 9 16 63 126
100 1827001282 55 11 18 120 14 9 16 75 150
125 1827004861 60 14 20 140 16 10.5 20 90 180
160 1827001460 65 18 26 180 18 9.5 20 115 230
200 1827001461 75 18 26 220 22 12.5 25 135 270

Q

&

EMERSON.



AVENTICS CCL-IC > U —X Z#21) A (ISO 45
21287) 2024-01-18
ERrh> 8 X7 @d H11 @d1 @d2 E®A oFB L4 MF R TF
T ILES
250 1827001462 90 22 33 280 26 105 25 165 330
320 5239016012 110 2 40 350 33 15 30 200 270
EARY O TG UF
32 32,5 0,2 80
40 38 40,2 9
50 46,5 0,2 110
63 56,5 £0,2 125
80 72402 154
100 89 40,2 186
125 110 £0,3 220
160 140 40,3 275
200 175 40,3 312
250 220+0,3 380
320 270 +0,3 400

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 46
21287) 2024-01-18

7S5 EAT T MF1, MF2, 1) — X CMA1

EANOER e XTUTILES
[mm]
16 AF—=I, FOLXY F 1821038241
20 AF=I, JOLXYF 1827002292
25 AF=I, FOLXY F 1827002293

FB

1
A
A
L_l" i O
ol i | @
7
(/]
Y
\J
-l —
EANY O Rcakd @d H11 @d1 @d2 E 1) JFB L4 MF TF TG
FILES
16 1821038241 10 45 10 29 55 5.6 10 43 18
20 1827002292 12 55 10 36 6.6 4.6 10 55 22
25 1827002293 12 55 10 40 6.6 46 10 60 26
EXhY @ UF
16 55
20 70
25 76
1) &K

\

&

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 47
21287) 2024-01-18

7y NET T MS1, 1) —X CM1

XTUTILES
16 KPZ, CCI AF—=I), 7O0LXY* 1821332053
20 KPZ, CCI AF=I), 70LXYF 1827002284
25 KPZ, CCI AF=I), 70LXYF 1827002285
32 PRA/TRB, CCI, CVI ISO 15552 AF—=I), VO0LXYF 1827001271
40 PRA/TRB, CCI, CVI 1ISO 15552 AF=I), 70LXYF 1827001272
50 PRA/TRB, CCI, CVI ISO 15552 AF=I), 70LXYF 1827001273
63 PRA/TRB, CCI, CVI ISO 15552 AF—=I), VO0LXYF 1827001498
80 PRA/TRB, CCI, CVI 1ISO 15552 AF—=I), 70LXYF 1827001275
100 CCl, PRA/TRB, CVI ISO 15552 AF—=I), 70LXYF 1827001276
TG
TG
X
N ! ™- = e =
o [T e 5
I - © |
Z| Q : “
TR GAB_| | '
E N AU AO
216 220 - 320

16 1821332053 5.5 5 3 13 4.5 29 35.5 13 8
20 1827002284 6.6 6 4 16 54 36 22 16 10
25 1827002285 6.6 6 4 16 54 40 23 17 11
25 3682202000 7 8 4 22 5.5 40 21 1.5 13.5
32 1827002286 6.6 8 5 18 6.6 50 24 16 -
32 1827001271 7 8 4 10,3 24 6.6 48 25 15.5 15
32 3662203000 7 8 5 24 5.5 47 26 16 15
40 1827002287 9 8 5 20 6.6 60 29.5 215 -

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO

21287)

48
2024-01-18

40 1827001272 10 10 4403 28 6.6 56 26 17 175

40 3662204000 9 11 5 31 6.6 56 28 16 20

50 1827002288 9 8 6 24 9 68 30 22 -

50 1827001273 10 11 50,3 32 9 68 32 215 20

50 3662205000 9 12 6 33 6.6 63 35 22 23

63 1827002289 11 12 6 27 9 84 39 285 -

63 1827001498 10 13 50,3 32 9 78 34 215 225

63 3662206000 9 12 6 36 9 81 40 205 23

80 1827002290 11 12 8 30 11 102 36.5 245 -

80 1827001275 12 16 6 +0,5 41 11 98 47 27 225

80 3662208000 12 15 8 43 9 95 45 265 26

100 1827002291 135 12 8 33 11 123 385 265 -

100 1827001276 14.5 19 6 +0,5 41 11 117 52 26.5 275

100 3662210000 14 17 10 43 1 115 50 26 32

125 1827001310 16.5 20 8+1,0 45 135 144 69 35 30

160 1827001457 18.5 23 10 1,0 60 175 185 100 45 325

200 1827001458 24 26 12 +1,0 70 175 220 120 475 37.5

250 1827001459 28 33 20 +1,0 75 22 280 135 55 45

320 5239010502 35 45 23 +1,0 85 26 350 200 65 55
EARY @ TG TR

16 18 0,2 18

20 22 40,2 22

25 26 +0,2 26

25 27 26

32 32 32

32 32,5 0,2 32

32 32 32

40 42 42

40 38 +0,2 36

40 40 36

50 50 50

50 46,5 0,2 45

50 46 45

63 62 62

63 56,5 +0,2 50

63 59 50

80 82 82

80 72 +0,2 63

80 73 63

100 103 103

100 89 +0,2 75

100 20 75

125 110 0,3 90

160 140 0,3 115

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 49
21287) 2024-01-18
EANY @ TG TR
200 175 0,3 135
250 220 10,3 165
320 270 0,3 200

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 50
21287) 2024-01-18

RILN AA4, 2 1)—X CM1

EARNOER ME NTUTILES
[mm]
32 AF=I), yO0LXY* EipHOE 1823120020
40 AF=I), 70LXY* FEiNHOE 1823120021
50 AF=I), 70LXY* HEEhHOE 1823120022
63 AF=I), VO0LXY* EipHOE 1823120023
80 AF=I), 70LXY* FEiHOE 1823120024
100 AF=I), 70LXY* HEEhH o E 1823120025
L EL . .l6

N7

EANY @ FILES o d &K EK e8 EL L &K L6 &K
32 1823120020 20 10 45.2+0,3 3.5 9
40 1823120021 22 12 52.2+0,3 4 9
50 1823120022 22 12 60.2 +0,3 4 9
63 1823120023 28 16 70.2+0,3 4.5 11
80 1823120024 28 16 90.2 +0,3 4.5 1"
100 1823120025 38 20 110.2 +0,3 5 1"

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 51
21287) 2024-01-18

WEHY TVUY PM5, > 1)—X CM2

ALY R4 X ME XTUTILES
M6x1 AF=I), o0LXYF R412026140
M8x1,25 AF=), V0LXY F R412026141
M10x1,25 AF—=), 704LXYF R412026142
M12x1,25 AF=I), v0LXYF R412026143
M16x1,5 AF=I), o0LXYF R412026144
+ik
— F o
SW3 SW2 SWi1
[s2]
o ) v
Q] ¥
1 |
i i o
| =] Q
A |
* L2
L L -

*O¥EHEOMIE

M4 1826409008 12 13.5 4 13 33 8 12 3.2 7

M5 R412007860 8.5 14.8 6 12 38.5 13.5 7 5 8
M6x1 R412026140 8.5 14.5 6 1" 36.5 1" 7 5 10
M8x1.25 R412026141 12.5 19 8 21 58 21 1" 7 13
M10x1.25 R412026142 22 32 14 23 745 23 19 12 17
M12x1.25 R412026143 22 32 14 24 75 24 19 12 19
M16x1.5 R412026144 32 45 22 30 103 30 30 20 24
M20x1.5 R412026145 32 45 22 40 119 40 30 20 30
M27x2 1826409006 62 62 28 48 147 54 32 24 41
M36x2 1826409007 80 80 38 86 241 72 50 36 55

4

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 52
21287) 2024-01-18

M42x2 R412007729 64 98 42 96 271 82 60 36 65
KK Sw4 al] 1) 2)
M4 12 8 0.05-0.2 0-0,5
M5 13 8 0.05-0.2 0-0,5
M6x1 13 6 0.05-0.5 0-1,5
M8x1.25 17 8 0.05-0.5 0-1,5
M10x1.25 30 8 0.05-0.5 0-2
M12x1.25 30 7 0.05-0.5 0-2
M16x1.5 41 6 0.05-0.5 0-2
M20x1.5 41 6 0.05-0.5 0-2
M27x2 55 8 0.05-0.2 0-2
M36x2 75 8 0.05-0.2 0-2
M42x2 85 8 0.05-0.2 0-2
1) it
2) T I

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 53
21287) 2024-01-18

WEHY TVUYT PM7, > 1)—X CM2

ALY R4 X e NTUTILES

M10x1,25 AF—=I), VO0LXYF 1827001629
M12x1,25 AF=I), 70LXYF 1827001630

M16x1,5 AF—I, VOLXY * 1827001631

&
|l -
| el -
— e —_=-_

al
e
d7

Y @ | @ \

Bl -
KK ) al a2 d1h11 d6 H13 d7 H13 el H13 e2 h1 2
TILES
M10x1.25 1827001629 60 37 20 6.6 1" 36 0,15 23 0,15 15 7
M12x1.25 1827001630 60 56 25 9 15 42 10,2 38 10,2 20 9
M16x1.5 1827001631 80 80 30 1" 18 58 +0,2 58 +0,2 20 1"

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO

21287) 2024-01-18
KK %7\ at a2 d1h11 d6 H13 d7 H13 1 H13 €2 h1 2
TILES
M20x1.5 | 1827001632 90 90 40 14 20 65 +0,3 65 +0,3 20 13
M27x2 | 1827001633 90 90 40 14 20 65 £0,3 65 £0,3 20 13
M36x2 | 1827001634 125 125 60 18 26 90 £0,3 90 +0,3 30 17
Hy 7>
A =9220} -1 iy &
KA1 NEBK
KL% £ 5%
M10x1.25 24 17 17Nm | 04-08mm | 1,9-2,3 mm
M12x1.25 30 19 29Nm | 04-08mm | 1,9-2,3 mm
M16x1.5 32 24 7AINm | 04-08mm | 1,9-2,3 mm
M20x1.5 35 36 138Nm | 04-08mm | 1,9-2,3 mm
M27x2 35 36 350 Nm 0.4- 1,9-2,3 mm
20,31 mm Eoe
0,4-
M36x2 55 50 1080 Nm 2,834 mm
0,95 mm

EMERSON.




AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 55
21287) 2024-01-18

OY RVLEAI> R AP2, 1) —X CM2

XTUTILES
CSL-RD, SSI, ICM ATVLARF= 3330516000
CCL-IC, CSL-RD, CCl, ICM ATVLAARF=L 3330520000
CCL-IS, CCL-IC, CCI, CSL-RD, SSI, ICM, ICS-D2, 167 ATV LAARF—L 3590502000
CCL-IS, CCL-IC, CClI, SSI, 167, ICS-D2 ATV LARF—L 3590504000
CCL-IS, ICS-D2, 167 ATV LARF—L 3590505000

Y
A

|
I -
[/ ! 5 o Y
|| () N ) I ) il
28] @) W
X A
—al— ¥
ER _ CE |
A
J i ‘i - — | [
)
Y '
|
KK X7 CE CKe8 CL CM B12 ER BL LE
TINES
M4 3330510000 16 4 10 5 6 15 8
M6 3330516000 24 6 12 6 7 17 12
M8 3330520000 32 8 16 8 10 22 16
M10x1,25 3590502000 40 10 20 10 12 26 20

EMERSON.



AVENTICS CCL-IC ) —X ZF#> ) 25 (ISO 56
21287) 2024-01-18
KK X7 CE CKe8 cL CMB12 ER BL LE
TILES
M12x1,25 | 3590504000 48 12 24 12 14 31 24
M16x1,5 | 3590505000 64 16 32 16 19 39 32
M20x1,5 3590508000 80 20 40 20 20 49 40

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 57
21287) 2024-01-18

OYy ROLERAIY KRAP6, Z1)—X CM2

REIR V) 312 -0(E &) RTUTINES
[mm]

CCL-IC, CSL-RD, ICM 6 ATVLARF=L 8958209012

CCL-IC, CSL-RD, ICM 8 ATV LAARAF=IL 8958209022

CCL-IS, CCL-IC, SSI, CSL-RD, ICM, 10 ATV LAARF—L 8958209032

ICS-D2
CCL-IS, CCL-IC, SSI, ICS-D2 12 ATVLARF— 8958209042
CCL-IS, CCL-IC, SSI, ICS-D2 16 ATV LARF—L 8958209052
CE

4 A1/ AN
- - I \ SE==F== <
wi ‘('T_'_ I R T S
\\ /l
LF

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 58
21287) 2024-01-18
KK s AA AV min. CE @ CN H7 EN-0,1 ER EU max. LF SW
7INES
M4 8958209002 11 8 27 5 8 9 6 9 9
M6 8958209012 13 9 30 6 9 10 6,75 10 1
M8 8958209022 16 12 36 8 12 12 9 12 14
M10x1,25 8958209032 19 15 43 10 14 14 10.5 14 17
M12x1,25 | 8958209042 22 18 50 12 16 16 12 16 19
M16x1,5 8958209052 27 24 64 16 21 21 15 21 22
M20x1,5 8958209062 34 30 77 20 25 25 18 25 30
M27x2 8958209072 50 45 110 30 37 35 25 35 41
KK Z [°] max.
M4 6,5
M6 6,5
M8 6,5
M10x1,25 6,5
M12x1,25 6,5
M16x1,5 7,5
M20x1,5 7,5
M27x2 7,5

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO

21287)

59
2024-01-18

EANEHEAFY b MR9

ALY R4 X

XTUTILES

Mé ATVLARF= 8103190644

M8 ATVLAARAF=IL 8103190164
M10x1,25 ATV LAARF—L 8103190464
M12x1,25 ATV LARF—L 3590304000
M16x1,5 ATV LARF—L 3590305000

/\ —

< o4V _pl KW
KK 73)3_—*!)% KV KW
M4 1823300033 10 3.2
M6 1823300034 13 4
M8 1823A00021 19 6
M10 8103190344 19 6
M10x1,25 1823300030 24 8
M20x1,5 1823300031 30 10
M27x2 1823A00029 41 13.5
M36x2 8103190414 50 16
M42x2 8103190424 60 21
M6 8103190644 10 3.2
M8 8103190164 13 4

KK

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 60
21287) 2024-01-18
KK 77)3_-&?% KV Kw
M10x1,25 | 8103190464 17 5
M4 3330310000 7 2.2
M12x1,25 3590304000 19 6
M16x1,5 3590305000 24 8
M20x1,5 | 3590308000 30 10
M20x1,5 8103040344 30 10
M24x2 | 8103190394 36 12
M48x2 | 8103190434 65 25
M10x1,25 2990600303 17 5
M12x1,25 2990600304 19 6
M16x1,5 2990600305 24 8
M20x1,5 | 2990600308 30 10
M27x2 2990600312 41 13.5
M36x2 2990600316 50 16
M42x2 | 2990600325 60 21

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 61
21287) 2024-01-18

Htal

M6 4 R402003749
M8 4 R402003750

[ A N - -
a
k L S
.
+3E (mm)
NTY
FILEE a d E k L S r

R412024762 2 M4 9.8 3.9 10 9.8 0.5
R412024763 3 M5 11 4 12 12 0.5
R402003749 3 M6 14 5.3 16 13 0.7
R402003750 3 M8 18 6.4 17 16 0.7

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 62
21287) 2024-01-18

Htal

M10 4 R402003751
M12 4 R402003752
&
8 ‘
- 45° _
L ‘ ’-‘T\
R ().
E L/
. 30° ‘
K L S
RO,5
0,5
+3& (mm)
77)?,_—%)% El o] E [3 L S r
R402003751 4 M10 24 7,9 8.8 15 21
R402003752 4 M12 30 9,5 15 18 27

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 63
21287) 2024-01-18

toH—, 2 )—-XST6

CCL-IC

BUTLW2Tr—7 ol
RoHS

UL (Underwriters Laboratories)

)—X a>329 y—7 g—7 YRER EBHEE EBERE NTUTILES
DEEZRA NP LHN— LEEL DC. ®X DC. &/ DC. ®X
[m] [A] [V DC] [V DC]
CCLIC| EFWPNP| RUPL AR 5 0.13 10 30 i it R412025609
&
57 . 295 oo L
48 57
F 1* 2*
7 Y —————— BN
ﬁ'é—‘ I — = s ———] BU
BK
X 23 x 0,14 mm?2
30

1*=4JfRA > h2*=0Y 4L 3*=LED V1> R, EH
L=—7ILR&

BN=%BK=2BU=F

X=FF :11.6 mm

R412025609
B> Y 4T M8x1 (3 1)
1 4 3

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 64
21287) 2024-01-18

toH—, 2 )—-XST6

CCL-IC

BUTLW2Tr—7 ol
RoHS

UL (Underwriters Laboratories)
cULus

== a5 y—7 r—7 EBHEE EBEE XFUTILES
(OY=E=3:85) N4 LAN— ILEE L . DC. &) DC. &K
[m] [V DC] [V DC]
CCL-IIC| EFHPNP| KUILER> 0.3 0.13 10 30 [kt gk R412025610
&
29,5 L
2L 2,7 29 - 37
48 [_1* "
5 - =g e e _{%
» L

1T*={RRA > 2*=0OY IR LU 3*=LED U1 R, EH
L=r—7LEE

X=8F:11.6 mm

EVEVET1=(+)3=(-)4=(HAN)

R412025610
B> BV 4T M8x1 (3 48)
1 4 3

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO

21287)

65
2024-01-18

o — 2 1)—XST6

CCL-IC

BUTLW2Tr—7 ol
RoHS

UL (Underwriters Laboratories)
cULus

=X aA>z9 =7
(OJEE::3:85) 47 ILAN—

=7
LIRS L

EBEE
DC., &’h
[V DC]

-
-

EBEE XTUTILES
DC. &K
[V DC]

CCL-IC| BFHPNP| RUTIL R 10 30 i 2 1 R412025611
I
29,5
5,7 2,7 40 - 50
4,8
0 AN
B =

P ={IRA> h2*=0OY R LU 3F*=LED V1> R, &EH

L=7—7ILRe
X =PNP: 11,6 mm
EVEIET 1=(+)3=()4=(HN)

R412025611
B> EY) 4T M8x1 (3 &)
1 4 3

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO
21287)

66
2024-01-18

Y —H1T i+, 1) —X CB1

ST6

HE NTUTPILES
TILZZOA R412025944

(4.7)
2N
J T g
Y,
5

@

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 67
21287) 2024-01-18

ABEAKIRY R, 1) —X CON-RD

Vv h
M8x1
3t

Ee2 ] RDE

BT — FEE
JILE [°C]
-
[mm]
48 V AC/ 3| A-O—R| FED—I| BGBAEF 4 35 5 -25 80 1834484173
DC it R 7

1834484173
EVEINET, YTy h

1

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 68
21287) 2024-01-18

ABEAKIRY R, 1) —X CON-RD

Vv K
M8x1
3

i

r

e n] Ee2 ] RDE REE

BEBT— BT — ERE ERE
7JILE 7JILE [°C] [°C]
-G\ B EKX
[mm] [mm]
48V AC/ 3ME| A-O—K| FZ—I| BRAEF 4 3.5 5 -40 85 1834484174
DC it [N 7
+3&E (mm)
ca. 28,0

M8x1
29,7
211,6

12,5

max.2 5,0

1834484174
EVENET, YTy ks

1

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO

21287)

69
2024-01-18

ABEAKIRY R, 1) —X CON-RD

YTy k
M8x1

EHEE BR =) BER BERE EXELR EX g—7 T— Bk ®2E BB NTUTILES
[A] Fa4U BEHE1, H1,A 1,0— B2 IIRE JII-g #EME BEREE FEEE
247 LYR F4a2T BAL4T [m] [mm] [mm?] [°C] [°C]
Y4 X
48V AC/ 4| k=)L | VYTV K M8x1| A-J—|BLWTWL 3 45 0.24 -25 85 1834484166
DC K kit | B —7
L Dig
48V AC/ 41— | VYTV N M8x1| A-J—|BLWTWL 5 45 0.24 25 85 1834484168
DC [N Rit | 25 —7
LD
48V AC/ 4| k—=I | VYTV K M8x1| A-J— |[BALTL 10 45 0.24 -25 85 1834484247
DC R RiL | d5—7
ROY:
1%
L
~40
2
w i
<t
i Eﬂ
| e
=~ x
g - 4 SR L L R
S =2 HE> kﬁ(f)
!
32
3x0,25mm?
L= Re

1834484166, 1834484168, 1834484247
EVEAIWHT, YTy K

1

3 4

(1) BN=2 (3) BU=% (4) BK=2

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 70
21287) 2024-01-18

ABEAKIRY R, 1) —X CON-RD

Vv h
M8x1

EBEE TR - BER BERE EXER EBX g—7 J— Bk BPE &sA XTUTILES
[A] Fa4U BEHE1, H1,A 1,0— B2 IIRE JII-g #EME BEREE FEEE
2AL7 LYR Fa2T BAT [m] [mm] [mm?] [°C] [°C]
Y4 X
48 V AC/ 41— |VYTY N M8x1| A-J—|BLWTWL 3 45 0.24 -40 85 1834484167
DC R RiE | Br—7
L Dig
48 V AC/ 41— | VYTV N M8x1| A-J—|BLWTWL 5 4.5 0.24 -40 85 1834484169
DC N Rit| 5 —7
LD
48 V AC/ 41— | YTV M8x1| A-Jd—|BLWTWL 10 4.5 0.24 -40 85 1834484248
DC R RiE | B —7
ROY:
1%
@10
M8x1_

|
<t
Q \

N—
3 |
Te]

L ___T____E_B_E____Jg_(gr_______
1 I

16 32

= ~20'5 = - ~40
L N

EMERSON.



AVENTICS CCL-IC 2 —X Z#Z 1 A (ISO

71
21287)

2024-01-18

1834484167, 1834484169, 1834484248
EVEYET, YTY N

1

3 4

(1) BN=%t (3) BU=%& (4) BK=8

EMERSON.



AVENTICS CCL-IC U —X &% 1) > 4 (1ISO

21287)

72
2024-01-18

HESR, 2—XA SN

U

ATVLARF=IL

FER—5)

TEA&RE

[dB]

68

[I/min]

10 0.006

R412010686

73

1218

10 0.01

R412010687

R412010686 M5 25 6.5 4 3 8 8
R412010687 G1/8 6 11 6 4 15 13
R412007817 G1/4 8.5 12 8 5 18 16

EMERSON.



AVENTICS CCL-IC & 1J—X E%#3 1) > & (1ISO 73
21287) 2024-01-18

HESR, 2—XA SN

Hhl
ATVLARF=IL

AR
A

FER—5) EAELE H
[dB] [l/min]
M5 85 73 1 0.003 R412010090
G 1/8 90 1312 1 0.011 R412010081
3%
A =
()]
(U] Q O —
Y \
RE> 1. L1 =

R412010090 M5 8 3.1 10.5 3.5
R412010081 G1/8 13 6.6 20 6

R412010082 G 1/4 16 8.6 29.5 7.5
R412010083 G3/8 19 12.1 335 7.5
R412010084 G1/2 24 15.3 39.5 9.5
R412010085 G 3/4 30 19.3 45 10

R412010086 G1 36 255 49.5 1.5

EMERSON.



nh elisen: T 12

Efficient pneumatic solutions, our program:
cylinders and drives, valves and valve systems,
air supply management

Visit us: Emerson.com/Aventics
Your local contact: Emerson.com/contactus

Q, Emerson.com
ﬁ Facebook.com/EmersonAutomationSolutions
LinkedIn.com/company/Emerson-Automation-Solutions

pu—

"/ Twitter.com/EMR_Automation

An example configuration is depicted on the title page. The delivered product may thus vary from that in the illustration. Subject to change. This
Document, as well as the data, specifications and other information set forth in it, are the exclusive property of AVENTICS GmbH. It may not be
reproduced or given to third parties without its consent. Only use the AVENTICS products shown in industrial applications. Read the product
documentation completely and carefully before using the product. Observe the applicable regulations and laws of the respective country. When
integrating the product into applications, note the system manufacturer’s specifications for safe use of the product. The data specified only serve
todescribe the product. No statements concerning a certain condition or suitability for a certain application can be derived from our information
The information given does not release the user from the obligation of own judgment and verification. It must be remembered that the products
are subject to a natural process of wear and aging.

The Emerson logo is a trademark and service mark of Emerson Electric Co. Brand logotype are registered trademarks of one of the Emerson
family of companies. All other marks are the property of their respective owners. © 2019 Emerson Electric Co. All rights reserved.

EMERSON

CONSIDER IT SOLVED




